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public class Prog03_01
{
public static void main(String[ ] args)
{
System. out. printIn("byte © ” + Byte. MIN_VALUE + “~" + Byte. MAX_VALUE) ;
System. out. printin(“short : “ + Short. MIN_VALUE + “~" + Short. MAX_VALUE) ;
System. out. printIn(“int ©” + Integer. MIN_VALUE + “~" + Integer. MAX_VALUE) ;
System. out. printIn(”long © " + Long. MIN_VALUE + “~" + Long. MAX_VALUE) ;
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System. out. printIn(“char © ” + (int)Character. MIN_VALUE + “~"

+ (int)Character. MAX_VALUE) ;
System. out. printIn(“float : “ + Float. MIN_VALUE + “~" + Float. MAX_VALUE) ;
System. out. printIn(“double : “ + Double. MIN_VALUE + “~" + Double. MAX_VALUE) ;

}
}
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short : -32768~32767
int © =2147483648~2147483647
long : =9223372036854775808~9223372036854775807

char : 0~65535
float : 1.4E-45~3. 4028235E38
double : 4.9E-324~1.7976931348623157E308
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int num;
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import java.util. Scanner;
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public static void main(String[ ] args)
{

Scanner stdIn = new Scanner (System. in) ;

int x = stdIn. nextInt(): N e
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import java.util. Scanner;

public class Prog03_02

{
public static void main(String[ ] args)
{

Scanner stdIn = new Scanner (System. in) ;
System. out. printin("x &y TEHTEEZTLVET") ;

System. out. printIn("x ZAALTLFZELY);
int x = stdIn. nextInt();

System. out. printIin("y ZAALTLZELY);
int y = stdIn. nextInt(;
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System.out.printin(’x +y ="+ (x +vy));
System.out.printin("x —y ="+ (x-y));
System.out.printin("x * y =" + (x *y));
System.out.printin(’x /y ="+ (x/vy));

System.out.printin("x %y ="+ (x%y));
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import java.util. Scanner;

public class Prog03_03

{
public static void main(String[ ] args)

{
Scanner stdIn = new Scanner (System. in) ;

System. out. printIn("x &y TEHTEEZTLVET") ;

System. out. print ("x DIE:") ;
double x = stdIn. nextDouble() ;

System. out. print ("y DfE:") ;
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double y = stdIn. nextDouble () ;

System.out.printin("x +y ="+ (x +y));
System.out.printin("’x —y ="+ (x-y));
System.out.printin("x * y =" + (x *y));
System.out.printin("x /y="+ (x/y));

System.out.printin("x %y ="+ (x%y));
}

}
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import java.util. Scanner;

public class Prog03 04

{
public static void main(String[ ] args)
{

Scanner stdIn = new Scanner (System. in) ;

System. out. print ("Please enter your name:”);
String s = stdIn. next(;

System. out. printin("Hello, ” + s + "17);
}
}
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Please enter your name:Daik/ Takeshita
Hello, Daiki!
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import java.util. Scanner;

public class Prog03_05

{
public static void main(String[ ] args)
{

Scanner stdIn = new Scanner (System. in) ;

System. out. print ("Please enter your name:”);
String s = stdIn. nextLine( ;
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System. out. printin("Hello, ” + s + "17);
}
}
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Please enter your name:Da/ki Takeshita
Hello, Daiki Takeshital
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public class Prog03_06

{
public static void main(String[ ] args)

{
String s1 = “ABC”;
String s2 = “DEF”;

s2 = "GHI”;
System. out. printIn("X=FFE" + s1 + s2 + "TI);

}
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import java.util. Scanner;

public class Prog03 07

{
public static void main(String[ ] args)

{
final double pai = 3.14159;

Scanner stdIn = new Scanner (System. in) ;

System. out. print "HDFEEAALTLIEEELN);
double r = stdIn. nextDouble() ;

System. out. printIn("AREIX” + 2 * pai *r) + “TI");
System. out. printIn("EF&ILX” + (pai * r *x r) + "TI");
J
}
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import java. util.Random;

public class Prog03_08

{
public static void main(String[ ] args)

{

Random rand = new Random() ;

int x = rand. nextInt(6) + 1;

System. out. printIn("H-/ 2QMBIX" + x + "TY");
}
}
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